Nabtesco GH &%IH —_—
E NGRS THRHY ya-

HENEES GH7 Bhibie BENES GH17 B/higie HENES GH24 A/higie
S1GH7 S1GH17 S1GH24
g G
£ : & E E
— E __F
60 1138 ] 8- 14 ] 8- ¢ 14385,
505 G ® 20 WILREH s — @ 20 BILREH G |

— [ — n 4597
b S
E— o ; D)

A
Q72H7
B
c
D

A
055H7
B
C
D
T——"
L\

T

] 10 L 1
| N
ZSTP ERZJ;H § HENEES  GHAO M FENEE  GH100 Mk
H I
SSG &% SSCPG &% ¥& = % 4| JSB 1702-1 : 1998 NB 4 | . S1GH40 e . S1GH100
® B A % ® oE A % R EE ¢ SownE™ s - -
¥ E E R | JISN7 %% uss17021: 1998) * ¥&EER|JSN7 K use17021: 1998) * 25| | ehmas poe G N A
TR P ] P E 7 @20 = =
E 71 Al20° E 51 Al20° Big/ - Am| 19° 31" 41" Aligia T——0
#  K|s45C #  K|s45C #  #|scma4d0 2Eldlo T—— - <lge T
A 0 B | HEBEA A0 | GEBEN A 0 B AR - GERREA 5 %
K EEE|50 ~ 60HRC K EEE|50 ~ 60HRC % & E|HRC50 ~ 60 *7 ] T hd
=& A 53, BITHIREEERY =@ A 2| 53 BUTHLNEERERL = E A | &5, ENTHIEEEERL ! =
. - o e s e " S 7 B}z ERER SNMEER| 5% BEK 2K BIRE| .. i E (N-m = " o s e . e
RS Ems m/EE | N R %ij‘l e AR STHAR SR LR =K W';""’# — g;gi %ﬁ@; e REx S Ems RS
SSG3-30RGH7 m3 30 S1GH7 25 75 90 926 30 20 50 11 M10x45| 251 209 1.422 | SRGF3-1000 SSG3-30RGH7
GH7 SSCPG10-30RGH7 CP10 (m3.1831) 30 S1GH7 20 75 95.49 101.86 30 20 50 11 M10x45| 283 240 1.635 | SRGCPF10-1000 SSCPG10-30RGH7 GH7
ZSTP3-30LRGH7 m3(CP10) 30 S1GH7 25 85 95.49 104 30 20 50 11 M10x45| 551 676 1.808 | ZST3-1000R ZSTP3-30LRGH?7
. =3 ENIZ § 72 -% rj 2| 55 =N e < 24 5Rx o 73 N °m \E " o - . o
HEHES meme B mE | | R ’Zf %‘*'E;“I AE :E‘I il EE‘I PR R AE WLH""# — gg:;ﬁf %ﬁ.—;ﬁ FL e REXH S FeEs RS
SSG3-40RGH17 m3 40 |S1GH17 25 80 120 126 30 20 50 13 M12x45| 358 407 2.281 | SRGF3-1000 SSG3-40RGH17
GH17 SSCPG10-40RGH17 | CP10 (m3.1831) 40 |S1GH17 25 80 127.32 133.69 30 20 50 13 M12x45| 403 466 2.616 | SRGCPF10-1000 SSCPG10-40RGH17 GH17
ZSTP3-30LRGH17 m3(CP10) 30 |S1GH17 25 85 95.49 104 30 20 50 13 M12x45| 551 676 1.406 | ZST3-1000R ZSTP3-30LRGH17
NN = o F = " 13 AN = BREF ERER | GNMEER | W%E |8k &K RFLRE . &1 E(N-m = 1= O 5l = RS, =
L Ems /g | N R %ij‘l i AR SUHAR SR LR =K W';""’? — g;:;; (ﬁﬁﬁl)g e RExH FEms RS
SSG4-30RGH24 ma 30 |S1GH24 20 90 120 128 40 25 65 29 M12x55| 595 501 3.627 | SRGF4-1000 SSG4-30RGH24
GH24 SSCPG15-30RGH24 | CP15 (m4.7746) 30 |S1GH24 25 110 143.24 152.79 50 27 77 41 M12x55| 978 821 6.808 | SRGCPF15-1000 SSCPG15-30RGH24 GH24
ZSTP4-30LRGH24 m4(CP13.333) 30 |S1GH24 25 110 127.32 138 40 25 65 29 M12x55| 986 972 4.615 | ZST4-1000R ZSTP4-30LRGH24
" Sk =4 E1Y> 4 § =3 fﬁ 2 55 = < 24 57\*2 o Y N-.m \E " o - . o
REHES meme woa /| EE | R ’;L:j %'*'E’;‘I RE :E‘I 15 ;E‘I R R AE WLH""# — gg:;ff %ﬁ.—;ﬁ FL e REXH S FeEs NS
SSG5-30RGH40 m5 30 |S1GH40 25 120 150 160 50 25 75 13 M12x75| 1070 916 7.230 | SRGF5-1000 SSG5-30RGH40
GH40 SSCPG15-30RGH40 | CP15 (m4.7746) 30 |S1GH40 25 110 143.24 152.79 50 27 77 15 M12x75 978 821 6.431 | SRGCPF15-1000 SSCPG15-30RGH40 GH40
ZSTP5-24LRGH40 m5(CP16.667) 24 |S1GH40 25 110 127.32 142 50 25 75 13 M12x75| 1980 1850 5.022 | ZST5-1000R ZSTP5-24LRGH40
o E.:. , T . | 7E %6 |SEHER GREEE| £E REE| 2K TARE . | aREE N-m) | RE - o
RS FEms m /e | | R %E"‘l‘ e AR STHAR SR LR =K W';""’# — ggj;; (ﬁﬁﬁg e RERH FEms RS
GH100 SSG6-30RGH100 mé6 30 |S1GH100/ 30 150 180 192 60 28 88 33 M16x75| 1850 1600 12.754 | SRGF6-1000 SSG6-30RGH100 GH100
SSCPG20-30RGH100 | CP20 (m6.3662) 30 |STGH100| 30 150 190.99 203.72 60 30 90 35 M16x75| 2090 1850 14.462 | SRGCPF20-1000 SSCPG20-30RGH100

FRIEEN =P FA6W AEENISSIEER =P E38~407

94 95



